

## County Distribution Detail Report through 03/02/2015

Α	u	ro	ra

1/2015

2,421

3,561

10

5,992

\$7,490.00

\$149.92

\$7,340.08

0.70

\$5,138.06

Autora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,283	1,814	0	3,097	\$3,871.25	\$77.44	\$3,793.81	0.70	\$2,655.67
							Entity Tota	al:	\$2,655.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,655.67
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	5,482	10,099	39	15,620	\$19,525.00	\$403.74	\$19,121.26	0.70	\$13,384.88
							Entity Tota	al:	\$13,384.88
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$13,384.88
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	955	1,058	2	2,015	\$2,518.75	\$57.74	\$2,461.01	0.70	\$1,722.71
							Entity Tota	al:	\$1,722.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,722.71
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

	Entity I otal:	\$5,138.06
	Adjustment:	\$0.00
	Total Amount:	\$5,138.06
Brookings		

Brookings	
-----------	--

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	10,092	19,198	<b>Lines</b> 81	29,371	\$36,713.75	\$761.94	\$35,951.81	0.70	\$25,166.27
1/2013	10,092	19,190	01	29,371	φ30,713.73	\$701.94	φ30,901.01	0.70	\$25,100.27
							Entity Tota	ıl:	\$25,166.27
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$25,166.27
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	13,139	24,424	56	37,619	\$47,023.75	\$954.26	\$46,069.49	0.70	\$32,248.64
							Entity Tota	ıl:	\$32,248.64
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$32,248.64
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,850	3,437	4	6,291	\$7,863.75	\$160.89	\$7,702.86	0.70	\$5,392.00
							Entity Tota	ıl:	\$5,392.00
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$5,392.00
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	621	369	1	991	\$1,238.75	\$26.01	\$1,212.74	0.70	\$848.92
							Entity Tota	ıl:	\$848.92
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$848.92

## Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	3,195	6,015	10	9,220	\$11,525.00	\$235.97	\$11,289.03	0.70	\$7,902.32
							Entity Tota	ıl:	\$7,902.32
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,902.32
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	849	1,436	2	2,287	\$2,858.75	\$57.19	\$2,801.56	0.70	\$1,961.09
							Entity Tota	ıl:	\$1,961.09
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$1,961.09
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	3,380	4,991	8	8,379	\$10,473.75	\$209.48	\$10,264.27	0.70	\$7,184.99
							Entity Tota	ıl:	\$7,184.99
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$7,184.99
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	71	12	0	83	\$103.75	\$2.09	\$101.66	0.70	\$71.16
							Entity Tota	ıl:	\$71.16
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$71.16
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	977	76	0	1,053	\$1,316.25	\$35.59	\$1,280.66	0.70	\$896.46
							Entity Tota	ıl:	\$896.46
							Adjustmen	ıt:	\$0.00

Total Amount:	\$896.46
	•

## City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	6,634	1,197	117	7,948	\$9,935.00	\$246.22	\$9,688.78	0.70	\$6,782.15
12/2014	0	0	256	256	\$320.00	\$17.69	\$302.31	0.70	\$211.62
							Entity Tota	ıl:	\$6,993.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,993.77
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,685	2,466	2	4,153	\$5,191.25	\$103.86	\$5,087.39	0.70	\$3,561.17
							Entity Tota	ıl:	\$3,561.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,561.17
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,578	7,106	39	9,723	\$12,153.75	\$250.25	\$11,903.50	0.70	\$8,332.45
							Entity Tota	nl:	\$8,332.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,332.45
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	9,259	17,998	33	27,290	\$34,112.50	\$690.05	\$33,422.45	0.70	\$23,395.72
							Entity Tota	nl:	\$23,395.72
							Adjustmer		\$0.00
							Total Amo		\$23,395.72
Corson							. 5.5		<del>,</del>
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2015	1,510	449	16	1,975	\$2,468.75	\$54.70	\$2,414.05	0.70	\$1,689.84
							Entity Tota	al:	\$1,689.84
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,689.84
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	3,709	4,566	31	8,306	\$10,382.50	\$234.66	\$10,147.84	0.70	\$7,103.49
							Entity Tota	al:	\$7,103.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,103.49
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	6,994	13,163	182	20,339	\$25,423.75	\$521.37	\$24,902.38	0.70	\$17,431.67
							Entity Tota	al:	\$17,431.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,431.67
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,563	3,462	3	6,028	\$7,535.00	\$151.03	\$7,383.97	0.70	\$5,168.78
							Entity Tota	al:	\$5,168.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,168.78
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,212	2,798	5	5,015	\$6,268.75	\$138.85	\$6,129.90	0.70	\$4,290.93
							Entity Tota	al:	\$4,290.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,290.93

Douglas
Douglas

Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,483	2,053	4	3,540	\$4,425.00	\$88.52	\$4,336.48	0.70	\$3,035.54
							Entity Tota	nl:	\$3,035.54
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,035.54
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,573	2,698	7	4,278	\$5,347.50	\$106.97	\$5,240.53	0.70	\$3,668.37
							Entity Tota	ıl:	\$3,668.37
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,668.37
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	3,480	3,957	11	7,448	\$9,310.00	\$187.76	\$9,122.24	0.70	\$6,385.57
12/2014	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	nl:	\$6,386.45
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$6,386.45
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,040	1,327	4	2,371	\$2,963.75	\$60.16	\$2,903.59	0.70	\$2,032.51
							Entity Tota	ıl:	\$2,032.51
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,032.51
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,900	5,223	10	8,133	\$10,166.25	\$208.01	\$9,958.24	0.70	\$6,970.77

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,970.77
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,007	3,551	3	5,561	\$6,951.25	\$151.25	\$6,800.00	0.70	\$4,760.00
							Entity Tota	al:	\$4,760.00
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,760.00
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,099	1,313	5	2,417	\$3,021.25	\$60.45	\$2,960.80	0.70	\$2,072.56
							Entity Tota	al:	\$2,072.56
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,072.56
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,069	3,389	7	5,465	\$6,831.25	\$136.67	\$6,694.58	0.70	\$4,686.21
							Entity Tota	al:	\$4,686.21
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,686.21
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,409	2,510	6	3,925	\$4,906.25	\$98.42	\$4,807.83	0.70	\$3,365.48
							Entity Tota	al:	\$3,365.48
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,365.48
Hanson									

**Entity Total:** 

\$6,970.77

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,092	2,782	24	3,898	\$4,872.50	\$99.59	\$4,772.91	0.70	\$3,341.04
							Entity Tota	al:	\$3,341.04
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,341.04
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	751	761	1	1,513	\$1,891.25	\$47.69	\$1,843.56	0.70	\$1,290.49
							Entity Tota	al:	\$1,290.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,290.49
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	5,665	14,345	97	20,107	\$25,133.75	\$528.08	\$24,605.67	0.70	\$17,223.97
							Entity Tota	al:	\$17,223.97
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,223.97
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	3,490	4,739	8	8,237	\$10,296.25	\$205.93	\$10,090.32	0.70	\$7,063.22
							Entity Tota	al:	\$7,063.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,063.22
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	885	1,028	2	1,915	\$2,393.75	\$49.12	\$2,344.63	0.70	\$1,641.24
							Entity Tota	al:	\$1,641.24

	Adjustment:	\$0.00
	Total Amount:	\$1,641.24
laskaan		

Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	751	855	0	1,606	\$2,007.50	\$40.15	\$1,967.35	0.70	\$1,377.15
							Entity Tota	al:	\$1,377.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,377.15
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,044	1,183	0	2,227	\$2,783.75	\$55.70	\$2,728.05	0.70	\$1,909.64
							Entity Tota	ıl:	\$1,909.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,909.64
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	594	653	3	1,250	\$1,562.50	\$31.26	\$1,531.24	0.70	\$1,071.87
							Entity Tota	ıl:	\$1,071.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,071.87
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,785	3,851	3	5,639	\$7,048.75	\$141.80	\$6,906.95	0.70	\$4,834.87
							Entity Tota	ıl:	\$4,834.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,834.87
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2015	3,529	8,841	13	12,383	\$15,478.75	\$316.84	\$15,161.91	0.70	\$10,613.34
							Entity Tota	al:	\$10,613.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,613.34
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	8,368	14,968	74	23,410	\$29,262.50	\$603.70	\$28,658.80	0.70	\$20,061.16
							Entity Tota	al:	\$20,061.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$20,061.16
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	5,836	35,843	207	41,886	\$52,357.50	\$1,110.37	\$51,247.13	0.70	\$35,872.99
							Entity Tota	al:	\$35,872.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$35,872.99
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,444	1,874	10	3,328	\$4,160.00	\$90.00	\$4,070.00	0.70	\$2,849.00
							Entity Tota	al:	\$2,849.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,849.00
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,026	2,684	8	4,718	\$5,897.50	\$120.77	\$5,776.73	0.70	\$4,043.71
							Entity Tota	al:	\$4,043.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,043.71

McCook
--------

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,251	4,076	8	6,335	\$7,918.75	\$158.35	\$7,760.40	0.70	\$5,432.28
							Entity Tota	al:	\$5,432.28
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$5,432.28
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,201	1,377	1	2,579	\$3,223.75	\$78.49	\$3,145.26	0.70	\$2,201.68
							Entity Tota	al:	\$2,201.68
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,201.68
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	6,669	17,422	161	24,252	\$30,315.00	\$634.26	\$29,680.74	0.70	\$20,776.52
							Entity Tota	al:	\$20,776.52
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$20,776.52
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	643	637	0	1,280	\$1,600.00	\$32.02	\$1,567.98	0.70	\$1,097.59
							Entity Tota	al:	\$1,097.59
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,097.59
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,148	1,491	2	2,641	\$3,301.25	\$66.31	\$3,234.94	0.70	\$2,264.46

							Entity Tota	ıl:	\$2,264.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,264.46
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	56,214	132,401	1,637	190,252	\$237,815.00	\$4,991.26	\$232,823.74	0.70	\$162,976.62
12/2014	0	0	105	105	\$131.25	\$7.31	\$123.94	0.70	\$86.76
							Entity Tota	ıl:	\$163,063.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$163,063.38
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,620	4,384	11	6,015	\$7,518.75	\$174.53	\$7,344.22	0.70	\$5,140.95
							Entity Tota	nl:	\$5,140.95
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,140.95
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	33,047	68,817	497	102,361	\$127,951.25	\$2,637.21	\$125,314.04	0.70	\$87,719.83
							Entity Tota	nl:	\$87,719.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$87,719.83
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,868	2,418	6	4,292	\$5,365.00	\$117.26	\$5,247.74	0.70	\$3,673.42
							Entity Tota	nl:	\$3,673.42
							Adjustmer	nt:	\$0.00

**Total Amount:** 

\$3,673.42

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,458	1,643	4	3,105	\$3,881.25	\$78.86	\$3,802.39	0.70	\$2,661.67
							Entity Tota	al:	\$2,661.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,661.67
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	4,219	4,473	8	8,700	\$10,875.00	\$239.64	\$10,635.36	0.70	\$7,444.75
							Entity Tota	al:	\$7,444.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,444.75
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	1,021	1,725	0	2,746	\$3,432.50	\$68.66	\$3,363.84	0.70	\$2,354.69
							Entity Tota	al:	\$2,354.69
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,354.69
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,487	4,367	6	6,860	\$8,575.00	\$171.84	\$8,403.16	0.70	\$5,882.21
							Entity Tota	al:	\$5,882.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,882.21
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	911	2,122	10	3,043	\$3,803.75	\$77.82	\$3,725.93	0.70	\$2,608.15
							Entity Tota	al:	\$2,608.15

	Adjustment:	\$0.00
	Total Amount:	\$2,608.15
Sully		

•									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	858	1,077	1	1,936	\$2,420.00	\$48.42	\$2,371.58	0.70	\$1,660.11
							Entity Tota	l:	\$1,660.11
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,660.11
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	13	3	16	\$20.00	\$0.41	\$19.59	0.70	\$13.71
							Entity Tota	l:	\$13.71
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$13.71
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,779	3,774	7	6,560	\$8,200.00	\$164.02	\$8,035.98	0.70	\$5,625.19
							Entity Tota	l:	\$5,625.19
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,625.19
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,412	5,705	10	8,127	\$10,158.75	\$204.40	\$9,954.35	0.70	\$6,968.05
							Entity Tota	l:	\$6,968.05
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,968.05
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2015	4,906	11,575	59	16,540	\$20,675.00	\$478.86	\$20,196.14	0.70	\$14,137.30
							Entity Tota	al:	\$14,137.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$14,137.30
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	2,547	3,513	9	6,069	\$7,586.25	\$153.41	\$7,432.84	0.70	\$5,202.99
							Entity Tota	al:	\$5,202.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,202.99
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
Reporting Period	Telecom Lines	Wireless Lines		Total Lines	<b>Surcharge</b> \$26,686.25	Admin Fee \$543.38	<b>Net Surcharge</b> \$26,142.87	-	Entity Amount \$18,300.01
			Lines		_		_	Percent 0.70	_
			Lines		_		\$26,142.87	Percent 0.70	\$18,300.01
			Lines		_		\$26,142.87 Entity Tota	Percent 0.70 al:	\$18,300.01 <b>\$18,300.01</b>
			Lines		_		\$26,142.87  Entity Tota  Adjustmen	Percent 0.70 al:	\$18,300.01 <b>\$18,300.01</b> <b>\$0.00</b>